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Question Number : 1 Question Id : 4557344161 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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If g(x)=x*+x—2and ;(_ gof )(x)= 2x% —5x+2. then one such function fx)=
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Question Number : 2 Question Id : 4557344162 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

. 1 . : B
[ff:R—>Adefmedby f(x)=— vx € R 1ssurjective. then A=
X" 4+2x+2
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Question Number : 3 Question Id : 4557344163 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If 2(4°™)+ 3% is divisible by k.k > 1 foralln € N then the value of kis

. - i j a4 % i " ’
o) neN o 2(4‘"+1 )+33"+1~ k>1 'f—.':-ﬁ:-é‘j k3 erfodadad, kIend

Options :
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Question Number : 4 Question Id : 4557344164 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

s |
If A= i B then the incorrect option among the following 1s

0 -1 ’ .
¥ ¥ B wond, §ob e:f{;s*&e.ré" 28506

Options :

1 AP—I=AA-])

C(A’+D=AA-])
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3 A'-I=A%+1

, AP+I=AA-])

Question Number : 5 Question Id : 4557344165 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If a=—1. bh=—1.c=—1 and the system of equations x = a(y + 2). v=b(z +x). 2= c(x + 1)
has a non-trivial solution. then

az-1Lb#-1 50050 cx-luysr x=a(y+2).y=>b( +x).z=c(x +1) =3 3DE5
335355;3, 2.8 %‘Pégéd RS58NS §O8 &0, &-’:5’33{93

Options :
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a+b+c
g (a+1)(b+1)(c+1)

=2

Question Number : 6 Question Id : 4557344166 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

The rank of the following matrix A 1s

& 1808 Som@E A GBog),. §°¢

1 2 3 4
2 9 4 5
A=
a 2 W =3
f =L B
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Question Number : 7 Question Id : 4557344167 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

. 12 - :
If a complex number - satisfies |:| +1 =‘:3 - 1‘ then the locus of - 1s

: 12 2 y
z &l 088 Sopg |-| +1=‘:"-1 S #)H0, Z Do HES®
£ v -
Options :
a circle

2.8 éagasx:-

the real axis

TR GEID

L2

the imaginary axis

SOE ©EID

the straight line y =x

y=x %8¢ 0

Question Number : 8 Question Id : 4557344168 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

P is a pomnt denoting - in the Argand diagram and if :_l 1s always purely imaginary. then

the locus of P 1s

JONNEr HF EOE Sopg BONS,
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Options :

: ; 1
The circle with centre l -1-] and radius —=
g J2
-l l]@o@om:&r : argargonior SyEo
2’y | V2 @

, _1" | 5
3 E] and radius —ﬁ

The circle with centre [

.l_

—_

I«J.I —

1 1
> ]@o@omrw, 5 Tgrgorie Sydo

La

The points on the circle with centre -:l}- %] and radius % . excluding the points (1.0) and (0.1)
o O 1 1
HochHen (1.0). (0.1) en &By, [E oy Sodomsr, —\E- Tgrgorio Sydo Db DorFen

1 1
e ] and radius —=. excluding the origin
2 2

b | =

The points on the circle with centre [ e

5

F 1y "3 _
TG B, ‘-;.-;-J"s‘o@om:&x \F g0 e J)Bo b Hoth)en

Question Number : 9 Question Id : 4557344169 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

. . a+ib
If a. b. ¢ are non-zero real numbers withc# 1 suchthata? + b2 +c?=candif o =
l—-c
thena?+ b=
T - a+ib
DNHEN YD Sopgen a. b, ¢ o >+ +ct=cHbodn c# 1 eHlr, a= :
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©o0d wHvdd a* +b* =
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Question Number : 10 Question Id : 4557344170 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For EJE:+.(1+51'11|9+?'0059)" +(1+sin@—icosf) =

neZ 58, (1+sin@+icosB)" +(1+sinf—icosb) =

Options :
Z 8 nt 6
P o = lcos[ s ¥R,
1 \ —i' : 7 "" 2
T 6 nr 6
g cos”{———] e [
Y 4 2 4 2
T @) nt né)
I cos®| - cos‘ - |
ek B LA B
3.
T 6)\. (nr né
7 g S ]sm\ .
(. 2 . 4 2

Question Number : 11 Question Id : 4557344171 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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If the quadratic equation formed by eliminating x from x*+ax+B=0and xv+ [(x + v} +m =0
has the same roots as that of the given quadratic equation. then the set of values of B is

ot =0 508050 xpH(x +yHm=0e $08& xS ennSn Bodmr DE\E 3¢ HAEG=00
GBg) Sarosnen, dE $EHnE6e50 DnE) SredneH ISrES0 wond, wdvd f

ﬁ))égf QenNNe) JNG

Options :
{m. o —m}

tm.l+mj}

L2

: {tm. ol +m}

tm. [ —m}
4

Question Number : 12 Question Id : 4557344172 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

, X +2x+1 _
If x 1s real. then the range of — 1
X F2%5+7

S

"2
= X <bax+l
X 3PQJ00, 3 G308), T°Re)
=" X422+
Options :
[0. 1)

1

| (=, 0)U (1. =)

L-J

(0. 1)

(Y]

4+ R

Question Number : 13 Question Id : 4557344173 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If [x] denotes the greatest integer not exceeding x. then the values of x satisfying
[x]" - 7[x] + 12 <0 are

o

[x] 238 x§ Dol H8Y Frgroso Srdw, [P =7[x] + 12509 $5H5063 x Denden

c
NoJo
) e

Options :
11£I{4

=

Question Number : 14 Question Id : 4557344174 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the equation whose roots are p times the roots of x* — 2ax> + 4bx> + 8ax + 16 =01s a
reciprocal equation. then |p|=

x*—2ax +4bx? + 8ax + 16 =0 @), Srreodneds pBiy SHirosneos §OAS $EEnHn
2.8 PGS S0860 wond, Wik |p|=
Options :

=

1o
12

1D | =

o | =

Question Number : 15 Question Id : 4557344175 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of three digit numbers in which 9 appears only in one place is

28 2 S’é’géﬁo@"’ 99 880 %od Sord wose dopge Jopg
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Question Number : 16 Question Id : 4557344176 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Options :
38
Cio

36
Cio

1

37
Cio

35
Cio

Question Number : 17 Question Id : 4557344177 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The coefficient of ¥°° in the expansion of (1+x) " + 2x(1+ :r)gg +3x (14x)" +..+1014%, is

100 . 99 : 98 = i .
(1+x) " +2x(1+x)" +3x°*(1+x)" +..+101x'® BNE), JQGS” x’“o:):cégr $208352

Options :
100
1 C 50

101
Cso

13

102
Cso

103
Cso

Question Number : 18 Question Id : 4557344178 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Question Number : 19 Question Id : 4557344179 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

e T
piti gy & , B . ¥ o sssnee
(2+1] () (241) (241)
PO
: %243 -_1,-28= -,A e e 5+ = 3 wond, viydy A+C=
@) ) () (e

Options :
{ A2
, 10
39
4 6

Question Number : 20 Question Id : 4557344180 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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c0s25°+s1n 25° c ;
If tan€ = , and 0 1s i the third quadrant. then 8=
cos25°—smn 25°

cos25°+sin 25° . _ .
tand = - 08030 OHrsSTrsoss ¢od, 0=
cos25°—sm 25°

Options :

200°

-2
2
-
'{l

'

12
2
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Question Number : 21 Question Id : 4557344181 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

7 3T A
If cosA=— and — < A < 27, then cos—+cos — —cos2A =

25 2 4 2

7 37 A A
cosA = Slelenty <A <27 ©0o»na, cosz+c057—c052A =
Options :
1 27
+

[

% J
o

(=)

(B ]

n

3 27

10 a 625

s J 24
1 27

J 25

4. 10 B

Question Number : 22 Question Id : 4557344182 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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In A ABC. 1f cos3A + co0s3B + ¢c0s3C + cos3nwt = 0 then the least value of the sum of two
of 1ts angles 1s

A ABC ¢°, cos3A + c0s3B + cos3C + cos3n = 0 @ond, & &zhHasnes® fodkh §adne

3ngo DS EIH e

Options :
T

, 6

=
=

Lo
[ F%)

Lull‘:q

Question Number : 23 Question Id : 4557344183 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

w . f ) Tt - 2 v
If O 1s 1n the interval l 0.2 satisfying the equation cos 26 -sec” @ +sec’> @ =0 then sin’8 =
i

Rl |

.

a2
5* &08&, ©dyd sin® =
2,

5 St ;
c0s20 -sec’ O+sec’@=0 9 9353 '@ wosdo [0

Options :

1
[, 9

3
4

13

b |

s | 12

Question Number : 24 Question Id : 4557344184 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical .
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. i <11 2r '
lim > Tan™ | —— =
n—o = 42
Options
T
, 4
T
7 2
—%
;3 4
_JT
-
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Question Number : 25 Question Id : 4557344185 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2 1] Y A
sec/i”| tan/h 1: +cosech“(coth 13) =
Options :

35
L 9
3
. 3
24
3 4
35
4. 4

Question Number : 26 Question Id : 4557344186 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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& A a2
In AABC.1if acos" =t ccos.z? = then
c yA 3b & oz
AABCe® acos,,_+€co SEs OIS, E-G}:téj
Options :
12b=a+v
, b*=ac
X .9
E:_+_
3 a ¢
g

Question Number : 27 Question Id : 4557344187 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Hsisfiesanipaboal AARC il =2 =2 4 ()5
s 1s the semi-perimeter o BN g Zsm 2 )

AABC § ©g SipfFod swH&r, = = w008, ©Hvd ) sin’

Options :

M|-4
h | 4=

u4|u
= | A

13

tad
LS

(B ]
h

%)
J

Question Number : 28 Question Id : 4557344188 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If11s the incentre of A ABC and P,. P,. P; are respectively the radii of the circumecircles of

the triangles IBC, ICA and IAB. then P,P,P; =

A ABC &3»8) ©0d8 Soio Idaoin IBC, ICA.IAB &eheare 20BN DY rgIrGaen

363 Py, Py. Pywonad, wdvd PP,P; =

Options :

L.

L3

2Rr

Question Number : 29 Question Id : 4557344189 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

12

. f— - TR . — 2
If @ and b are two unit vectors such that 7 + 5 1s also a unit vector. then |a - EI —

a4+b Sz 2.8 oo 36% -E-xﬁ}g-béqgrr- T 38330 b e Bokd ohHrdds B

§ ]

Question Number : 30 Question Id : 4557344190 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If the line joining the points 7+ j and 37 + j —k meets the plane that passes through the

point 27 +4 and parallel to the vectors 37 + 5k and 37 —k atP, then the position vector
of the pomnt P 1s

T +7.37T+7 -k Dochdos §0%5 dp, 27 +4] HothPmhom F&», 37 +5F $8050

31—k dodo sSrosdomr &od Semd) PS¢ §0h, Doy P Bng), % $6¢

Options :

| =277 +j +14k

297 +j —14k

Lo

; —147 +89j +3k

2i +57 -7k

Question Number : 31 Question Id : 4557344191 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If A. B. C and D are four points i the plane such that |AB 4 IC D = ‘BC i |DA =180
then LAC -BD =

il ¥ 2
o8 00 D T DodHen A. B.C.D en ‘ i +|CD~ :‘BC +|DA| =100

*.-tv:)"fngﬁqgo-ﬁﬁ wHedy AC-BD =

L3
==

Question Number : 32 Question Id : 4557344192 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Options :

V14

14

L3

=13

o V17

Question Number : 33 Question Id : 4557344193 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If 3. B. ¢ are three vectors suchthat.|ﬁ| =1. ‘El =9 |?| =3and2a@-b =b -t =¢ -g =2 then
P[E b F]z -

F.B.7 ©3 Sordy S8 '|a|=1.|s?\=:z. |F|=3 500050 2F-B=5-F=F-d=2

2

8305008 .[E b c_'*] =

Options :

, 15

14

-2
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Question Number : 34 Question Id : 4557344194 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If‘E:zT-i-f. b=j+k.?=i+k then

0|
'Y
=
W
ol
bt
S
]
b
S
%

[(5??)! cxa (
[E+E c+a E+5:|[5;x? cxa a.yz?]

12
[a—

Question Number : 35 Question Id : 4557344195 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The standard deviation of the scores 505. 510. 515. 520. .... 595 1s

505, 510, 515, 520, ..., 595 ) do D IB5D0

5 305++/30
3 /30
4 d++30

Question Number : 36 Question Id : 4557344196 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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If the variance of the distribution

Xj 4 8 11 &

Ii: 3 5 9 5
1s 45.8. then the variance of the distribution
yp: 10 18 24 36
fi: 3 5 9 5

is

- 4 8 11 17

f 45 3 5 9 5
deraaras :Jgﬁnaé‘a 45.8 =ons

Vs 10 18 24 36

1 3 5 9 5

®3 dereads RN

L
%‘
i
\O

. 1832
4 V1832

24

50

Question Number : 37 Question Id : 4557344197 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

A die is formed so that the probability of getting a number 7 when it is rolled is proportional
toi. (i=1. 2. 3.4. 5. 6). The probability of getting an odd number on the die when it is

rolled is

28 FOED, BB IDOIIYE BB Sopg i ((=1.2.3,4, 5. 6) BnE) JoegrSgd, = JSopgd
©5FE0S” $0a Do ErFoBoDTH. & FHED DHBSHYEH I BOBoPgH F0B

éowégs‘_ﬂ

Options :
1
1. 2
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Question Number : 38 Question Id : 4557344198 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

TE .1
A problem is given to 3 students A. B and C whose chances of solving it are <+ 3 and 1
respectively. Then the probability of the problem being solved by exactly one of them.
if all the three try independently. is

2.5

,.,
o

NVg A, B. Cud S0MHdh Iorghioss 2i)ddyd o8 TP FHodE s He

©ONB, &5 J0MET DCSBOE0MT [D05H)0TINVYE, F0e5*

pingorr 2,8 088 SrE@h © SHdg THoSEEIS Ho SoerSgd

Options :
3

, 4

11

1o
2
=

¥
1o
o

Question Number : 39 Question Id : 4557344199 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

gcollegeduniaa

el



In a certain recruitment test with multiple choice questions. there are four options to answer
each question. out of which only one is correct. An intelligent student knows 90% correct
answers while a weak student knows only 20% correct answers. If an intelligent student

gets the correct answer for a question. then the probability that he was guessing it. 1s

2.8 QOSrHsT08 2005 fvd od)§ EHen Ao DOFTHGE0S” B BB SSrSdosgE s
6" 2,88 JBFS SIrerHo EOAS Trenid DRSSV GIon. w8 STy fo Ho7gd
90% 5000 Jdrpraren 8endy 0N w8 Hodwd o IT°gls 20% Jdrgraren
SrEdan end. w8 Sorfengio dorgd 8 HHH HBFS SSrTI) Q R, @& A
5700 GOodERS Dogrdgd

Options :

K3
3

L2
[ —
O

Question Number : 40 Question Id : 4557344200 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A random variable X has the following probabilty distribution

Valuesof X(x): O 1 2 3 4 5 6 7
P(X=x): 0 k 2k 2k 3k k2 2k2 TR+ k
ThenP(0<X<6)=

.8 oﬁrcﬁgfﬁs deoo8 X 80H éoaﬂégﬁ* DETRITV) 590 &ob.

X denden (x): 0 1 2 3 4 5 6 7
P(X=x): 0 k 2k 2k 3%k KB 28 TR+k
wHvH P0<X <6)=

Options :
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Question Number : 41 Question Id : 4557344201 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An unbiased coin 1s tossed » times. If the probability of getting at least one head 1s greater
than 0.8. then the least value of  1s

28 DB BIDH n T D8 IVBIAYH, EAB0 a8 FHHB SogrSgs 0.8 SoH
D8NS wond wHvdd n B0 1D Dend

Options :

2
1 -

[
LS

Question Number : 42 Question Id : 4557344202 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a pomnt P moves such that the sum of the distances from P to the points A(1.—1) and
B(—1.1) 1s always 4. then the equation for the locus of P 1s

Pe3 2.8 Hohd), Pdod A(l.-1). B(-1.1) HohHe Sod) He drore Sndo DOBVET
4 d@gtnm $O3308 P HokhHg d860

Options :
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1637 —64x+ 717 =48

2 5.9
3x"+2xy+3y =8

L-2

6x+4y=3

sl

" 9 3
X“+y"—8x+6y=0

Question Number : 43 Question Id : 4557344203 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The transformed equation of 3x” — 6x1 + 81% = 8 when the axes are rotated about the origin

br4

A in the positive direction. 1s

through an angle

X - ’
AETH5F o8, Mredothl) Sy G565 i 50508 (gm0 B9, 3Ix—6x1+817 =8

©5 HE SnETdn D) H0SS oSG0

Options :
1 524+ 10xv+ 172+ 16=0

5x2+ 10av+ 1712 -16=0

L-3

5x2—10xv+ 1732 —16=0

5x2—10av+ 172 +16=0

Question Number : 44 Question Id : 4557344204 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A variable line passing through a fixed point (o ) intersects the coordinate axes at
A and B. If O 1s the origin. then the locus of the centroid of the triangle OAB 1s

28 Q6 Ho%Y (0. B) HoFHFD) &8 S5O0 S8 AErHEFoH A, Bo 58 poddkod.
O Sorodothia Gehzo OAB o gdo HothHgo

Options :
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: Bx+av-2af=0

Bx+ayv—3xy=0

-3

" a':r+ﬁ_1-'-(cf‘? +ﬁ2]=0

Bx+ayv+3xv=0

Question Number : 45 Question Id : 4557344205 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If m =1 1s the slope of a line L. then the product of the slopes of non-parallel lines which
are inclined at an angle of 60° with L 1s

L &3 $8¢0y @), aren m =1 w003, L & 60° o §'00 30 wddrods Ope arene oR8»

-2
I
[e—

1o | —

Question Number : 46 Question Id : 4557344206 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (1n sq.units) of the quardilateral formed by the lines 2x+31+6 = 0, 233146 = 0.
2x+31r—-6=0and 2x-31-6=01s

2x+3p+6 = 0, 2x-3y+6 = 0, 2x+3y—6 = 0 Sod0o%0 2x-3y—6 = 0 ©3I Tpos' IAB
SEENBB0 B0, JTOgED (5,050 £65%)

Options :
12

) 36
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418

Question Number : 47 Question Id : 4557344207 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the straight lines 2x + 3v—1=0.x+2v— 1 =0 and ax + by — 1 =0 form a triangle with
orthocentre at the origin. then (a. b) =

2x+3y—1=0.x+2¥r—1=05000%0 ax + by — 1 = 0 5 S58¢0pen, SoredodHrdd

©0BoBSNM HOAS w8 BeH2os Eldg&'?_\g? wHvdd (a.b)=

==

Options :

L (-8.8)

(0.7)

L-2

(6.4)

Question Number : 48 Question Id : 4557344208 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The product of the perpendicular distances from (1.—1) to the pair of lines x> — 4xv+12=0. is
36§05 asnifo X — 4wy + 12 =058 (1.-1) $08 vondroe ©go

Options :

l . l

|

L2
b | W

(B

Question Number : 49 Question Id : 4557344209 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If a circle touches the lines 3x — 4y — 10 =0 and 3x — 4y + 30 =0 and its centre lies on the
line x + 2y = 0 then the equation of the circle is

3x—4y—10=050050 3x—4y+30=00ped &8 Sgo S)35308 Hda% 8 Soko

p——

x+2y=002D &08, & SFo SEG00

Options :

. X+ +4x-2v-11=0

24324 2x—4y—-11=0

L2

P+ 4y +2y—-11=0
9, )
x*+y " +2x—-y-11=0

Question Number : 50 Question Id : 4557344210 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the line 4x + 4v— 11 = 0 intersects the circle x> + 12 — 4y — 6y + 4 = 0 at A and B. then the
point of intersection of the tangents drawn at A. B 1s

Ax+4y-11=023 03 2 +17—4x—6v+4=0 5)8505 A.Beo 5¢ pody, A.Bo 54
s 5308 D3 N)G0re Pods Dok

Options :

, -1.2)

(-1.-2)

-2

, (2.-1)

Question Number : 51 Question Id : 4557344211 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The equation of the circle which passes through the point (3. 2) bisects the circumference
of the circle x*+ 12 = 15 and cuts the circle x>+ 17 + 4x + 6v + 3 = 0 orthogonally is

(3. 2) Do hom&Fdr, X2+ 17 =15 )8 H0H SHobgPods B,
X2+ 12+ 4x + 6y + 3 =0 5@ e_)oe,:-{fgcs:jo B 5)E SDo¥s00

Options :

| FP+2+6x+8r—43=0

, X2+32+6x—8r—15=0

3 1‘3+.1'2-—- 6x+8v—-11=0

, X+ —6x—8y+21=0

Question Number : 52 Question Id : 4557344212 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

x* 437+ 2x + 4y —20=0and x? + 1° + 6x — 8y + 10 = 0 are the given circles.
Which one of the following is correct?

22437+ 2x + 4y — 20 =0 506050 2% + 32 + 65 — 8y + 10 =0 3D 88 Sysen.

&% 806 TVS* B HBFPEH?

Options :

They intersect orthogonally and will have two commeon tangents. The length of their

'5\[3_,

common chord 1s f

688 Symen oowor podothFobyr, Dok ¢I3nd HEPPeD DA Goiron.

5v3
ﬁ:ﬁ)@ﬁs ey FE ﬁ 2ol

They intersect at right angles and will have two comumon tangents. The length of their
common chord is 2.

e ST OO DOGE0HB0LFT, B0 ﬁ.‘én;{% é&dﬁ@e_}éo 5O/ Sodrromw,
ﬁ&"))é)@g g R 2 2HH08.

)
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They do not intersect orthogonally and will have three common tangents. The length
of their direct common tangent is 5.

688 SyEmen oowonr PoRoEY, Sord 38 SEPyes 07 Goirrow.
ShVe 6P FEH 5 ©HHob.

They touch each other internally and will have only one common tangent.

88 Symen woddonr dpFoBiobr &8 wl 58 HEPPSH 04 Godrown.

Question Number : 53 Question Id : 4557344213 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the circle passing through the points of intersection of the circles
>+ +4x+ 6v—12 =0 and x* + 3° — 6x — 4y — 12 = 0 and cutting the circle
12 + 12 —4x + 2y + 8 = 0 orthogonally is

X+ A+ 6y —12=0.27+17 - 6x — 4y — 12 =0 S)z0 PodS HoIe HomEr,

2 2 e -
Xy —dx+ 2y + 8=0e3 SHerd) vonddso T SHFo Sangdwo

Options :
: X+12+6x+8r+12=0

2+12+8x+6y—12=0

-2

2+12+6x+8y—-12=0

;) 2
4 X+ —6x—-8v—12=0

Question Number : 54 Question Id : 4557344214 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a parabola passess through the points (2. 1). (1. 2) and (1. 3) having horizontal axis.
then the length of the latus rectum of that parabola 1s

(=2, 1). (1. 2). (1. 3) Do How Fdd HorSeoHo B0y, wgo §&2 Jdroddonr
€08, & Hodocho GBnE) THoono FEI

Options :
-
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12 | W

L2

a2

o
lJ]I|—|.

Question Number : 55 Question Id : 4557344215 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of one of the common tangents of the circle x> + 12 — 6v + 4 = 0 and the
parabola 17 = x is

3

C+HY—6v+4=0 D)E00 805w V2 = x HoedechHdned Ko 8 &5

3 Hdow
o B
B E82950

)
&

Options :

| 2X—=y+1=0

2x—y=1

L2

A=yt =%

x—2y+1=90

Question Number : 56 Question Id : 4557344216 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: : : s SN
The equation of the ellipse having a vertex at (6. 1). a focus at (4. 1) and the eccentricity — is

-

| k 3 ]
(6. 1) 5 2.8 33dm, (4. 1) 8§ 2.8 o) EQB00& &8) 0l g §ONS égﬁ;go SHMETef 1NN

Options :
3 ’,
x—1)° (v-1)
(=1’ (-1 _,
| 16 25
V. 2
x=1)  (v-1)
=1y -

25 16

12

gcollegeduniaa
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., 7
x+1) r+1)"
(x+1)" (v+1)°

g &5 16

) 2

x+1) r+1)

(x+1)° (v+1)°
16 25

Question Number : 57 Question Id : 4557344217 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

4cos 26. isin 26 l on the ellipse 163>+ 1117 =256 touches

Vi1

the circle x2 +12 -2y =15.then 8 =

If the tangent at the point

BESydo 16x° + 11y* = 256 B o (4c0529. —-1-6—-si1129 DoY) SE Ko 60D
o) @2 e ‘ \/ﬁ | @ ol

2+ —2r =153 SE:0) R, 0 =

L
N

Question Number : 58 Question Id : 4557344218 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A tangent to the curve 95°x” — 4a*y? = 36a°h> makes intercepts of unit length on each of
the coordinate axes. then the point (a. 5) lies on

9b%x? — 4a** = 36a°h? JE"08 e 2.8 é;ég‘c‘ﬁaa QOrDE wgren 2.8) § 'd &8 o
Yo wodd poFed D (a. b) =3 HokY &od SEo

Options :
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. Z+y?=1
; 2—9t=1
A+ 9r=1

Question Number : 59 Question Id : 4557344219 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The harmonic conjugate of P(-9. 12. —15) with respect to the line segment AB. where
A=(1.-2.3)andB=(-4.5.-6) is

A=(1,-2.3)and B = (4. 5. —6) won3d, Sgrpoko AB &yrs P(-9. 12. -15) BwE)
08 50030000

Options :

l
| 2
b | =

o
C—— e —

(6. -9.12)

-2

Question Number : 60 Question Id : 4557344220 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the direction ratios of the lines L; and L, are 2. —1. 1 and 3. -3, 4 respectively. then the
direction cosines of a line that is perpendicular to both L; and L, are

L;. L, ©3 8ot 58¢0pe 65 diykhen Sdm 2.-1, 1558050 3, -3, 42008 L. Lok
00T G0k &8 HNEEoY RwE), 65 Fpde

Options :
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I+
I+

J14~ 14

Question Number : 61 Question Id : 4557344221 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the equation of the plane bisecting the line segment joining the points P(3. 2. 4) and
Q(-1. 0.-2) and perpendicular to PQ s ax + by +cz+d=0then ac + bd =

P(3. 2. 4). Q(-1. 0. -2) HoHHos §8 Dyrpomd) SHobgwods 3%, PQ § eonomr

03 00 B0E) HEEw0 ax+by+cz+d=02008 ac+ bd =

Options :

, 0

12

=

Question Number : 62 Question Id : 4557344222 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

b )
cos| —cos“ x
. A .1'|+rr.1‘ _ .9 )
cos| lim + lim . - |=
X—C |1| —3x =0 1
Options :
!
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Question Number : 63 Question Id : 4557344223 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
9

2 2 2 2z I°
[6*+12“+18“+...+(6n)“}
lim W 37
n—r::[5+10+15+_”+5}'1]|:2 +4" +6 +...+8n]

Options :

4

¢ 3

L2

Question Number : 64 Question Id : 4557344224 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

If [x] denotes the greatest integer not exceeding the number x. then f(x) defined by

f(’t) = I[I] lf x<2

Ih[.r]—l. if x>2

1s contmuous in the mterval

[x] 238 x & odd KB Hrorosdnd Hrd8ed

[[1] if ¥ <2 wonsHvd

f(x) =1

[[1]—1. if ¥22 wondHvd

m GBS Hahoho f(x) wdnK)Sdhyg woddo
- J\e)

Options :

-

el
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Question Number : 65 Question Id : 4557344225 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

s a+l+2x
| .1- |
Ifa>0and f(x)= l i . then /'(0) =
14+ x
a+l+2x
(a+x) -
a>0e38 f(x) :l l sona f(0)=
BES
Options :
; g““'l
| :
I=a
ffﬂj +ZMgaL
| oa J
; 2loga

Question Number : 66 Question Id : 4557344226 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: d.‘.
If v=1log,(log, x).then — =

dx

| . dy
v=log,(log, x) wond, —=

dx

Options :

[ ]
gcollegedumas
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log, e

2xlog, x

1

xlog, x log, 2

Lo

]

log, (2x)"

1

log,e log, x

Question Number : 67 Question Id : 4557344227 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

- 2
If y= xlog| T l for 0 < x <—then
&% 3

D<x<

W | 2

§ J'=1‘Iog|r -

Options :

1 4

16

12

e

o
19

Question Number : 68 Question Id : 4557344228 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

An approximate value of 48 is

V18 B8 2.8 &2ronos) Jend

Options :

, 20512
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Question Number : 69 Question Id : 4557344229 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

» . . g ' 5 *
The sum of the maximum and the minimum values of 3x* — 21 — 6x?+ 6x + 4. in (0. 2) is

(0. 2) &° 3x* — 223 — 632 + 6x + 4 B, 0}, §IR DenSe Indko

Options :
, 28

-2
[—
(o)}

Question Number : 70 Question Id : 4557344230 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The constant ¢ of Lagrange’s mean value theorem for f(x) =cosx—sm2x in

n K| .
e e B

2 2

’:FT ’T g-° . * -] * —_—
=3 ©086085" f(x) =cosx—sin2x §, BYTrod GG DD STToSD) B0E),

%EFOSKSJJ C I

Options :

, 0
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sin
s
[ 1+4/33 l
COS 3
3. J
ol
4 4

Question Number : 71 Question Id : 4557344231 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Air is discharging from a large spherical balloon at the rate of 4 cubic meters per minute.
Then the rate at which the surface area is shrinking when the radius of the balloon is
8 meters. 18

98 DE Fesdd) md endl ASNIIE 4 HIMLYG Gnd mdI SHOIF0H. & wndH
Trgo 8 LGHHVE 0 &H0SL JTogo S10D0HET Béx
Options :
y 3 .
2m~/ mnute

QF0TrDE 2 K.

: T
Im- / minute

D3FOHE 1 &$.a0

L2

¥ .
4m- / munute

QH0TDE 4 S.a0

Sm? / minute

DX0XHE 8 H.a0

Question Number : 72 Question Id : 4557344232 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

%=

. X
Jn'3—3:r+2

Options :
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Question Number : 73 Question Id : 4557344233 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

J‘ ‘\lx: +1[1(:ng(nr2 +1)—210g.11
A

g =
Options
3
1(. 1)z g B
—|1+—,, 2—Slog[l+—,,| +c
91 - 2 { X
1.
l i
1{ 1 \2 " \"
TlH_’ 6-log[1+—| |+c
S X - o
. 17
. . i 1 )2
——[1+-—-;—] 3~—Zlogll+~—; +c
¥y X X
3. . —
3
. 1% e 1]
—|1+— 3+log[1+—|_]+c
2 2
3\ X" ) -. -ty
4

Question Number : 74 Question Id : 4557344234 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

|" dx
Ysmmx+sin2yx

Options :
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| 1 2
glog( 1-—-cosx)+?log(_1+cos:r)-|—;10g|l+2cosx|+c

| 1 2
Elog[l—cos .r)—;log( 1+ cos 1‘)—:log |1 +2cos :r| +c

=

| 1 2
Elog(l—cosx}+;log(l+cosx_)——;log|l+ 2cosal+c

3 : i -

|
X Elog[(1—cos:r)(1+c051‘)|1+2c05x|].— C

Question Number : 75 Question Id : 4557344235 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

J( sec” x+tan” :\‘)dx =

Options :

2. 3 2

—fan Xx——tfanx+x+cC
1 3 3

P & 5 tan’ x

—SeC Xanxt+t—ianx-+ s o, fa o2l
- 3 3

By

:tan X+x+cC
3 B

1 - 5 tan> x

—sec ytanxy ——tanx + +x4c¢
43 3 3

Question Number : 76 Question Id : 4557344236 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. Xl .= .at28)Y .=i3%) =Y
lim —jsmj -2l +5111:’| ’-i—sm} l+*..+5111:’ —I
n—w i L L 6n 6n | 6n b2

%

Options :

8
y 157

8
2 57

[ ]
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Question Number : 77 Question Id : 4557344237 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

T

|*E

"0

Options :
Tlog?2

—7Tlog?2

L3

4
:logz
3. -

g
~Zlog2
4 2

log, (sin2x)dx

Question Number : 78 Question Id : 4557344238 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

a g ~ . 4
The area (1n sq.units) between the curve y= = 8x and its latus rectum 1s

D80 ‘1‘3 =

(]
J

J

82

8x, "0 sPeoowdne NGy fo PRISN B0E), Irogdn (&.0507ddes")
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Question Number : 79 Question Id : 4557344239 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

- : W~ dy
The order and the degree of the differential equation v = px + \[ a’ p2 +b2. (where p = n’;)
%
are respectively
: . _— 3.2, 32 dy sz s :
VIS SnEdedn v=px+ \/a p +0, (P= s @ONHHVE)FINE). HBATrb,
dx = .

SEHS SBJr

Options :
9,

l .

L2

=

2
[

Question Number : 80 Question Id : 4557344240 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. i s ; s G ; :
The solution of the differential equation - +2vx =2y which passes through the point
1!

(2.0) is

dx s
= +2vx =2y eS80 08065708 (2. 0) £0BHHoTFA FEGS
)

Options :

(x—1)=2e&"

) (x—1)=2e
o

3.(.1 l)=e

(=)=

Phmice [ ]
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Number of Questions: 40

Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344241 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the measurements given in List - I with the number of significant figures given in
List-II.

rder - 165° a3ads Fodod ade - 1&° R5¢IBS %:rgs Jopgod” aEH6SS80
List-1 List-1I
=t AL | erda - 11

A) 74.083 I} 3

B) 0.029 o 4

C) 0.002407 1) 2

D) 2.74 x 107 IV) §

The correct answer 1s

Eﬁ@-ﬁa;ﬁ QAT DR

Options :
A B C D
N H JE 1

A B € D
IV 1

=
—

1)

=
ve
>
o

" m IV I I
R B D
I n m N
4

Question Number : 82 Question Id : 4557344242 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
collegedunia:s
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The velocity - displacement (v-s) graph shows the motion of a particle moving in a straight
line. Velocity - displacement graph i1s a circle of radius 2 m and centre 1s at (2.0) m. The

-~

value of acceleration for this particle at a pomt (2 2.2 ) m will be ms

b

Bfo-Fdglodo (v-5) (rD H6¢0p Joad SOKE) S0 D) Fosd) BOHBERB.
Sfo-arSEioFo P 2 m argargo 330050 (2.0) m Dok 5¢ Soio e a8 Syfo, ©o0d

(2_‘5‘ ‘E) m o 3§ € §058 #0600 LD ms—2
VA
0 —3 5
Options

!.-..'l
.

Question Number : 83 Question Id : 4557344243 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body is projected horizontally from the top of a tall tower with a velocity of 30 ms™. At
time t;. its horizontal and vertical components of the velocity are equal and at time t,. 1ts
horizontal and vertical displacements are equal. Then (t,—t;)=

(g=10ms™)

DB 2.8 8pBo D S04 2.8 5HH a2 SSroddornr 30 ms™ Bod DO, 17351050
a’)é 70 §82 357088 SH0o%» §S&zoon BroTen dSrSom 0. D00 S T
S22 Jdrodd Hododn §Sxz2eo0w @;é@owm RBFH0MT Q). wond, (t,—t))=
(g=10ms™)

Options :
¥ ls
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Question Number : 84 Question Id : 4557344244 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle 1s projected at an angle of 60° with the horizontal from the ground with a velocity
10+/3 ms™!. The angle between velocity vector after 2 s and initial velocity vector is

(g=10ms™)

grdy S0é e S7d) 110\@1115”1 Sfod° §&e dSrodoeds 60° §'od” HENo BTH.
2s SHhad M SHFH Hdon SO HHFS Doy 'm0

(g=10 ms™—)

Options :

L. 0°

13
LY
o

[a]

Question Number : 85 Question Id : 4557344245 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A bead of mass 100 gram is attached to one end of a spring of natural length L and spring

(\/3 +1)mg
L

constant k = . where m is the mass of the bead. The other end of the spring is

fixed at point A on a smooth vertical ring of radius R as shown in the figure. The normal
reaction at B just after it is released to move 1s (g =9.8 ms™)

L 3% 245 $805» k=

3+1)m
(J_ L) - 2o Qorofo Ao QoA 2.8 D38 100 radwve

SISV AN B 58 o, & @Qoﬁ S0l VHG R;?g@’go §8 Qe geypes* € )
S80S B)Fm5°0 0800 o RE DoddP A HL0S® SrHdiy HioSeadod. IdoSHis:
TOD S6OS Hr8§0e” B 5§ whHeooen HS&ISE (2=9.8 ms™)

Options :

173N

—

L2
12
(]
o
Z,

e
E
” 4

I
)
LA
(A
2

Question Number : 86 Question Id : 4557344246 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A rocket with an imitial mass ‘my’ 1s gomng up with a constant acceleration ‘a’ by exhausting

gases with a velocity ‘v’ relative to the rocket motion. then the mass of the rocket at any
instant of time 1s (Assume that no other forces act on it)

0845 Sobo Gk v BiS0S* arainHed Idbe DI ‘my’ & (55078 e 078 ‘a’
Q0 #082008" 28 FHHB. & 005 PT 0B BS5073 (246 2B SVDoHBEHE )

Options :
<2
m=mge "
1
2a
= v
, M=mge
_T:t
m=mgye -°
3.
o 3‘2 1=
, M=mge

Question Number : 87 Question Id : 4557344247 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle 1s released freely from a height H. At a certain height. its kinetic energy is two

times its potential energy. Then the height and the speed of the particle at that instant are
respectively (g = acceleration due to gravity)

28 3P ?ccszﬁr:}m H ) 508 369K, 57T 2858 o°0 Hd=d§, 282 §§5 o
0l &5, = §0065° & I I4) SHBadn BrSwen Idm (g =& Sedabn)

Options :
H |2gH
;. 3 3
H 5 B
7. 3 3
2H [2¢H
o 0
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Question Number : 88 Question Id : 4557344248 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A uniform chain of length */° and mass ‘m’ lies on the surface of a smooth hemisphere of

radius R (R > /) with one end tied to the top of the hemisphere as shown in the figure.
Gravitational potential energy of the cham with respect to the base of the hemisphere 1s

D80 SrdadStn F SF6H ‘m’ BSgo8ie 2868 Fend R c:ﬂ-gfj‘*ga’)w (R>1) e
$H P IS P, T &8 DIE fFESn GHED DoKhYHILH §L1d 3B, wIi'd

o

%80 HBom Fendd S DS 8

Options :
mg/
)
-
meR’ L
g sin[—l
/ SR

1

Question Number : 89 Question Id : 4557344249 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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A particle of mass 15 kg is moving with a uniform speed of 8 ms™ in x — v plane along the

line 3y = 4x +10. then the magnitude of its angular momentum about the origin in kg m’s™ is

[ sin 53° =iJ
_ 5

15 kg B85g073fe 2.8 w0 8 ms~! D68 S48 x — v Sooes* 3y=4x+10 By
Doad FOB0H. wond SHredokd dHomr T FhoH GS5gBK HoSre0 kgm’s!

5" (sinSB"':%]

Options :

;. 240

30

L-2

3 120

4. 280

Question Number : 90 Question Id : 4557344250 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An empty bucket of mass 1kg attached by a light cord passed over a pulley of a water well

1s released from rest. If the pulley assembly 1s assumed to be a uniform solid cylinder of
mass 8 kg and free to rotate about its axis without any friction. then the speed of the bucket
as 1t hits the water 16 m below 1s

(g=10ms™)

lkg BSgoe8de a8 @ e85, .8 BITS & 35000 f D ok HES DS 8
Qo ‘gé 0% Sdo wiod. 55333 égégﬁa ©wgo ddorr _':"’S‘jt,‘lm Sulefas S0z BfSowo
BRF) 8 kg 55078 Ao S Srdo orm #rR, 16 m HHSS &8 O8I 538
s 288 S&

(g=10ms™)

Options :
| 4ms™

, 8 ms™
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3 16 ms™!

20 ms™

Question Number : 91 Question Id : 4557344251 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: ‘ ; - g T
The displacement of a particle of mass 2 g executing SHM is given by V=13 5111[ 4t + 3 ] .

Here v 1s in metres and 7 1s in seconds. The kinetic energy of the particle when 7 = % 1S

. T
sTe] -] &mé&é B0 &) 2 g(Bdg0°8 e 2.8 §20) ﬁgf‘ﬁ o) ¥ =55111[ 4r+-§-] 3
ot & § o a < T ol
DaEdadng ;wﬁod:’nﬁg_} Q8 & _1*5'}3&:@6“ B3N R8s o). r:I 2000 e3a)) 8

e 8200 &2 38

Options :

L 047

0517

12

Question Number : 92 Question Id : 4557344252 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two bodies of equal masses are some distance apart. If 20% of mass 1s transferred from
the first body to the second body. the gravitational force between them

JSS;S (BSgoeHen He Bodk SHHen Fod Srdods* I Bohad GHD. IEL 39
5006 Bodd SNJK 20% GBS50730 06O TR, © SHNJo Gy Ao HEHE DeSw

Options :
Increases by 4%

% 20D
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Increases by 14%

14% s

]

Decreases by 4%

4% &%

Decreases by 14%
. 14% &

Question Number : 93 Question Id : 4557344253 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

One end of a long metallic wire of length L. area of cross-section A and Young's modulus
Y 1s tied to the ceiling. The other end 1s tied to a massless spring of force constant K and
amass ‘m’ 1s hung from the free end of the spring. If ‘m’ 1s slightly pulled down and released.

then its time period of oscillation 1s

L 2489, Aa’)JtﬁgB‘:}cﬁ drogdn, Y ohoff Hasdnne ws FE3S5 &85 DO S0
Bordbed. b o F85H K aofoossn Ko (55078 §ird @)ohs Serdhn,
)0 "?JOSD:':J 5% ‘m’ (55078 §Pord. ‘m’ S dgoyor Eods o SBOGS, oo
Soordds 5N

Options :

m
2. —

K

myA

2n, |———
KL

L3

m(KA+YL)
KYA

m(KL+YA)
KYA

Question Number : 94 Question Id : 4557344254 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Two solid spheres of radu 2 mm and 4 mm are tied to the two ends of a light string and
released n a liquud of specific gravity 1.3 and coetficient of viscosity 1 Pa s. The string 1s
just taut when the two spheres are completely in the hquid. If the density of the materials of
the two spheres is 2800 kgm™. the terminal velocity of the system of the spheres is
(g=10 ms?)

2 mm 58050 4 mm argrganen fe 8o 96 Feod e 8985 6o Do B 5¢
£don), 28y Hdudco 1.3 HoBos» ‘@g@ o080 1 Pa s §DAS 2.8 |55085° B8, Bodkd
e (308" ¢Hvd odo HrhIH0s (8558 Biooa). Dok e DG o
2800 kgm™ @008, ok Fee 5§53 G0, 6B Bifo

(g =10ms™)

Options :

1 2 cms™!

Question Number : 95 Question Id : 4557344255 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : A room can be cooled by opening the door of a refrigerator in it.

Reason (R): Heat always flows from a body at higher temperature to a body at lower
temperature.

%o (A): o8 HOS° &) 0EE0LE e BN Gothdd OO0 & KB SeadusS).
5?6220 (R): I8P &S 3§ &&) 8 3 ol 55 TS 5§ &J)
SRBRIEY f—tu_;;;,@ﬁ‘da’m 22337050.

Options :
(A) and (R) are true: R is the correct explanation of (A)

(A) H58050 (R) &0 35350 : (R). (A) SB0g), 508 DHed
1.
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(A). (R) are true: (R) 1s not the correct explanation of (A)
(A) $0805» (R) &0 J&gdm : (R). (A) Bng) 5985 D56 576

(A) 1s true. (R) 1s false
(A) 3¢50, (R) e38g5x»

(A) 1s false. (R) 1s true

(A) =ddg50, (R) Sdgadn
4,

Question Number : 96 Question Id : 4557344256 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Awire of 20 Q 1s immersed in ice. If 10 A current is passed through this wire for 1 minute.

ice completely melts. The mass of the ice is nearly (Li.. = 79.7 calg™)

20 Q 8BS0 Ko &X SHoHs® Ehydod. & &K hoae IOA:IJCS}S@T 1 QR0 Fréw

BSroDEHE Srodh Hromr 08, & oo (B5g078 D0 (Lgsows = 79.7calg™)

Options :

L,

=

35¢g

Question Number : 97 Question Id : 4557344257 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A graph drawn between absolute temperature and volume of 3 moles of helium gas as shown

in the figure. If 5 cal of heat 1s used in the process. then the work done 1s

3 3rde rdoHo oSN HEH GFWSH 00 S HOSTrerds Sy HOS [TD
HL0S" B0 DGorr ¢0d. H HE0HS® STOle $UDN GIATA0NGL NS, BOAS B

y-axis
AN

T @

Vv
m?) 27
10 —
0
Options :
21017
, 847
2 1267
2621

> X-axis

Question Number : 98 Question Id : 4557344258 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

3

An ideal gas is found to obey py2 = constant during an adiabatic process. If such a gas

mitially at a temperature T 1s adiabatically compressed to half of its initial volume. then its

final temperature is

w8 ©66) o700 PVZ = Q0078 @b BNEG50:5 %6"@5 @E00S* FJoHHh.
SO 4GNS T 38 & a50HSH 9 Hod H0Srdnes” HHd0 whHiss K{gé‘géom
H08'D0RBHS, R HE G

Options :
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Question Number : 99 Question Id : 4557344259 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rms speed of oxygen molecule at a certain temperature is 600 ms™. If the temperature
1s doubled and oxygen molecule dissociates mnto atomic oxygen atoms. the new rms speed
15

-

e SPFES 58 ©8§2d w0 ms 58 600 ms™. SAESS5 Do TS B&2S

90 BB DS enT QA&FE 54 mms S5

Options :
1 120 ms™!

150 ms™!

L-2

1200 ms™

[ ]

600 ms™

Question Number : 100 Question Id : 4557344260 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A progressive wave of frequency 500 Hz is travelling with a velocity of 360 ms™. The
distance between the two points, having a phase difference of 60°. 1s

500 Hz &r$edSgo o 2.8 H&man doio 360 ms~ 1 3Ko & R03r8:5208. Bod Do
o6y eBso 60° 308, = Bodk DohIe ey rdo

Options :
| 1.2m

2 12 m
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, 0.12m

4 0.012m

Question Number : 101 Question Id : 4557344261 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A source S emitting sound of frequency 288 Hz is fixed on block B which 1s attached to the

free end of a spring S, and an observer O 1s on block A which 1s attached to the free end of
spring S;: as shown in the figure. The blocks A and B are simultaneously displaced towards

each other through a distance of 0.5 m and then left to oscillate. If the angular velocity of each
block 1s 40 rad s~!. the maximum frequency observed by the observer is

(speed of sound in air is 340 ms™)

288 Hz &rdedgonie FRHND JBEL :‘:30?533::&35’1 2.8 258500 S& .8 oA S; BN
'%auga:) DSCE ELQDBS B30y B % foard). Heoest Srhd Ao .8 DD, =8
2yofi 81 Bog), Tgar) DIEH EHYAS By AD Sok. ASBoI» B B3O 2830
2500 3 2889 0.5 m &rdo §69) Godo T o SHerdd. w.6)E), B BNE),
§80% Sfo 40 rad s 203, 388055 H8200DS 503 FBeSgo=

(mOe* 5ed S& = 340 ms™)

0 S
@ @ i
N

N

——rrn—

N

N

A B \

Options :

288 Hz

310Hz

-2

324Hz

4 256 Hz

Question Number : 102 Question Id : 4557344262 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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In a compound microscope. the focal lengths of two lenses are 1.5 cm and 6.25 cm.

An object 1s placed at 2 cm from the objective and the final image 1s formed at 25 cm from
the eye lens. The distance between the two lenses 1s (in cm)

&8 Jooing Jrg) B8NS, Bod SLisw Trgrgodoren 1.5 cm HHBas» 6.25 cm &8
S0P 5Dy 8o HHod 2 cm Brdosst Sodd HH Pa&Dowo I 8o Sro0d 25 cm
S8 IA\ASH. 2008 & Bod Shse DFgErdo cm o

Options :

1 6

-2
e
|
h

Question Number : 103 Question Id : 4557344263 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In Young's double slit experiment. the intensity of central fringe is I and fringe width is 3.
If a point is at a distance x from the central fringe. the intensity at that point is

o$H0f zod HOs BRTHoS” Srigos HY ESS I 500050 HE3 Sdeny B.SoBoH HY
$07%) X Brdods® o HoD) 3§ &

L2
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Question Number : 104 Question Id : 4557344264 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A proton and an o - particle start from rest in a uniform electric field. The ratio of tumes
taken by them to travel the same distance in the field 1s

28 [@Frs $H0050 2.8 0 -8200 2.8 868 HogS o DHOYS Sood wodHen QTroN.
©0o0@ JIF0S” ©d Bodr &8 Sroed) Poirdodid o8 HhHdsosne DHE

Options :

1,\[5_1\5
Iﬁ:l

L-2

2.
3I -“!1

4 l'ﬁ

Question Number : 105 Question Id : 4557344265 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two charged balls moving mn the same direction with same velocity v are placed in an electric

field. After some time. one ball moves with velocity S atan angle of 60° with the initial

direction and the other ball moves at right angles to the initial direction with a velocity v'.
Then the value of v'is

28 Btfo v & 28 HFS® §renthi) Sokh H3E podhed IS FEos® Gowd. Fod

-

5*00 S0, 2.8 208 S0 HFS 60° §20085° — JK0S*H), BoKS 208 &9 HFL eo0m

2
v 3Ko&S 55‘33@3::53;:}301). LoNd V' Dend
Options :

v

2
}:

v
, V3

v
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Question Number : 106 Question Id : 4557344266 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Electric field vector in a region is given by E = (Eif +4yj | Vm™ . The potential at the origin

1s zero. Then the potential at a point (2.1) m s

0§ BB0S" Dekogs § ¥6%, E=(3i+4y) Vm™ m aimass. SHre DoY) 5¢

SBY0HS Heigdn. @wond (2.1) m HokhY 3§ SBYGHS

L3

3 8V

4 =1V

Question Number : 107 Question Id : 4557344267 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the circuit shown in figure. if the point R 1s earthed and point P 1s given a potential of
+1800 V. then charges on C, and C; are respectively

D80S Sradt R H06Y e Sogrdodad, P Hodhhs +1800 V >BAoHS

REINSHE Cp5dadn C; 3rddf D wazen S

oJ
a_

G
N
| |
AF
+1800v €1
& ;i L 4 2 @ & :
R
©osw 9 . i
2 uF ne
¥
| |
Cs3

Options :

1 2.4x103C:1.2x103C

gcollegeduniaa

el



-2

. 1.6x103C:0.8x103 C

3.2x103C:1.6x103C

4.8x103C:2.4x103C

Question Number : 108 Question Id : 4557344268 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The bulb which glows with maximum intensity in the given circuit is

NS SeoHo’, HEY HPSS® IOR e

Options :

4 Qbulb

—

2 Q bulb

L-2

-3 Qbulb

s

4 6 Qbulb

202

4€)

—@w
A

602

W

50

bulb

Question Number : 109 Question Id : 4557344269 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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In the circuit shown in figure. power developed across 1 . 2 Q and 3 ) resistances are in

the ratio

Hh0e* Erds Seoost 1Q.2Q 500w 3 Q AFTes® #J0DS FHsEne HNG

10Q

M'

2
=
(9]
2
|

1
o

30Q

Question Number : 110 Question Id : 4557344270 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Two long straight parallel conductors are carrying currents 7; and 7, in the same direction.

Work done per unit length when the distance between them is doubled is

0060 S5 FEJS HSrodd FTEos” i) HH00%n i Ddgden &8 HFS® HIrdyTom.

a0 g o) BéJo) BOSHYE, HSrs FEIHD 2OAS
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Question Number : 111 Question Id : 4557344271 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A straight conductor of length 32 cm carries a current of 30 A. Magnetic induction at a
point in air at a perpendicular distance of 12 cm from the midpoint of the conductor is

32 cm &Y o 890 aerEo o 30 Adgd) HDer008. & TS0 S06g HOY
508 775508 wowor 12 cm Srdoss® mdeS* o Lok S¢ wobhar od (60

Options :

| 0.2 gauss

0.3 gauss

L-2

0.4 gauss

0.5 gauss

Question Number : 112 Question Id : 4557344272 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A sample of a paramagnetic salt containing 3 10** atomic dipoles each of dipole moment
2x107>* Am’ is subjected to a uniform magnetic field of 880 mT and cooled to a temperature
of 3.5 K. The degree of magnetic saturation achieved 1s 10%. If the sample 1s subjected to
a magnetic field of 990 mT and cooled to a temperature of 2.1 K. the total dipole moment
of the sample 1s

2,878,485 2x1075 Am? 66S @rdgo Ko 3x10% H88rmn BB )T 0B $90 &) .8 Fo°
@050 ol Sound 880 mT 2868 woHir odggos” o 3.5 K sayigso
SO0TE. S0u5Y) 10% w05 08 Sodyh Fowd Fohod. s 990 mT @cdhar o
Bifoes® o) 2.1 K SFHS50 SeryS, S0y 800 $08 Bngo BiG)S @rsoso

Options :

| 11.25An2?

-2
b2
(o
N
EJ

(Y
f—
LN
=

= ]
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Question Number : 113 Question Id : 4557344273 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A coil of wire of radius ‘7" has 600 tums and self inductance of 108 mH. The self inductance
of a co1l with same radius and 500 turns 1s

Tgardan 77, Wiy 600 e a8 &K SHdy Gng) Sgaho (@68S 108 mH. 20& i sl

=

500 i &&) HEE B iy Do) Hgoho HESS

Options :

L 80 mH

75 mH

]

108 mH

90 mH
4.

Question Number : 114 Question Id : 4557344274 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the AC circuit shown. E=Egsm(@r + ¢) and 7 =17, sm{ ot + ¢+ Y ] Then the box

contaims

. ; i 3 . | JT. 3
SrHS AC Soodioes® E=Egsm(ax +¢@) So8035»0 I=Igsml fOT+¢+:] WO S

DS
BOX
ac source
ac 2980
Options :
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Only C
C Srgad

L and R in series
L 508050 R @e§es*

Lo

C and R in sertes or L. C and R 1n series

C 580350 Ren @8e5° 8o L, C 508050 R en @55°

Only R
s R3rED

Question Number : 115 Question Id : 4557344275 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The oscillating electric field of an electromagnetic wave i1s given by

E, =30 sin( 2x10M 7 +3007x )Vm_l . Then the value of wavelength of the electromagnetic

wave 1s

&8 Dhgtiahir o ébolio 3N, &od :3538'53@50 E}, = 305i11(2 «10M7 +3007x ) Vm!.

©008 & Dgidahdaryof Sdoko Bwg) SSorBE g0

Options :
. 5.67 10°m

6.67x10~m

L-3

66.7x10m

7.66x10”m

Question Number : 116 Question Id : 4557344276 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Photons of wavelength A emitted by a source of power P incident on a photo cell. If the
current produced in the cell 1s I. The percentage of incident photons which produce current
in the photo cell 1s

(h 1s Planck’s constant and c is the speed of light in vacuum)

Paradogso e 2.8 2350 08 &&\8 ©ond lééor‘i@_%o o PO 2.8 5708 LoD

D700, 805* 200NS DS Hariro Iwond, Hrtros® HkgS PBa~r*A) §8h0

DS PFérde 7o
(h - 508 Qorogo HdAsw ¢ - ér:ﬁgoé" 5508 J&)

Options :

100ePc
Tha

100ePA
The

L3

100IhA
3 ¢€Pc

100Ihe
ePA

Question Number : 117 Question Id : 4557344277 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If A; and A, are the wavelengths of the photons emitted when electrons in the n® orbit of
hydrogen atom fall to first excited state and ground state respectively. then the value of 2 1s

T ED H65r0IS 1 S EEESTA JoEgden Indd 82 HB0ID FrFones
HABSYE BB Pirdo S6orBozged SEHT A 5805 Ay ©ond, 1 Deod

Options :

2(Jy—4y)
B~

collegedunia

—



A4 -4)
3

4(4—4)
" (44, —4)

Question Number : 118 Question Id : 4557344278 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of half lives elapsed before 93.75% of a radioactive sample has decayed. 1s

B&335°0, 8 E’J‘r:ﬁ'ﬂgo 93.75% £055»0 BoAEIS DN ©f Bdd OO JoPg

Options :

1 6

Question Number : 119 Question Id : 4557344279 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the common base configuration a transistor has current amplification factor 0.95. If the
transistor 1s used 1n common emitter configuration and the base current changes by 2 HA.
then the change in the collector current 1s

&8 r)nd ¢d08 «5°d QargdSNeS™ 0.95 HogS ég:-ﬁ Heas7q) 88 G0b. AN &G
= {axe) 3)5}18555‘333&5" €GN0 B0 7 BTE DEGS [Pa7eI*A) 2 A SI°6) Bﬂnééjcéa,
0 080D DedogS Pariros®t Sy

Options :

 19pA

0.91pA

L2

19pA

s

, 38pA
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Question Number : 120 Question Id : 4557344280 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the height of the transmitting tower is increased by 30%. the area covered by it
increases by

BF0S Iy 30% oS vd Perddo B Tregos” DG
Options :
| 10%
1 21%
3 30%
Chemistry
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557344281 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When a metal surface is exposed to certain frequency of electromagnetic radiation. the
kinetic energy of electron ejected from metal surface 1s 0.20eV. If its work function (W)is
4.80eV. the approximate frequency of radiation falling on the metal surface in Hz is

&8 ABPDS FSsSgone DBglohad o8 V860 STrdwon JBSHYE, STHFEe0
0SS JoFS H82FE 020eV. & %o B HRoaso (Wy) 4.80eV =o0xna
3 §'Trdo0n HES 860 DS:HSgo Hzos® Sdedne
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4 1.98 < 1016

Question Number : 122 Question Id : 4557344282 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the ratio of energies of electron in the excited states of H and Li*" is 1 : 9. the radius
ratio of electron in the same excited states of H and Li*" is

H, Li¥ o5* ¢824 FoNOS' JOFS o AR 1 : 9 wonsiHonsd «B 4828 Tonod®
H, Li* © dJogs sgrge 98
& ® od—2

Options :

1 9:1

3:1

L2

3. 1:9

i.1ts

Question Number : 123 Question Id : 4557344283 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following.
i.  Inthe periodic table. about 78% of elements are metals.

11.  In a group. the metallic character decreases from top to bottom and in a period the
non-metallic character decreases from left to right.

1. The element Ho belongs to f-block.

$od DVBeeS® S6GS T HYowB®.

1L 68308 385 Srdy 78% Srosten &°Fen

i a8 BrHet &% erddn Hod) Sohs Fond Fod EMHEod 5Hdddn 2.8
DOOHBES® WS'H Harddn JdS $rof) S8 Fond Fod SKHE0b.

1. Ho Sworedo - B8 BoH.
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4. 1. 11

Question Number : 124 Question Id : 4557344284 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct order of dipole moments of NH;. H,O and NF; 1s

NH,. H,O 2805 NE;® &gtha [grans e S0038 (§2000

Options :

- H,0>NH, >NF,

H,0 > NF, > NH,

L-2

NF, >NH, >H,0

, NH;>NF;>H,0

Question Number : 125 Question Id : 4557344285 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: . . . . . g .
The number of electrons present in bonding and antibonding orbitals in O, 1s respectively

O, &° 2048, vdnofs ?.—':5;@%?5‘&5} Qﬂ@‘;ﬁ@ dogyg 6D

= a4 :

L3
[e—
9
)

, 10,8

Question Number : 126 Question Id : 4557344286 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If 7. 1, and 7 represent the most probable speeds of three different gases at the same
temperature as shown in figure with molar masses M,. M, and M, respectively. the correct
order of molar masses of these gases 1s

M. M,. M;3rerS BagorHentio Sird arainde 188 Soerdgs e Hoes® 528542
I'j- Tp. 1300 2008 a78) drerd |BHgorHe S0GHS (Edodm

Rt

=

2

ca &

8 2

2%

Speed (3¢0)
Options :

M, >M;>M,
M, >M,>M,

3 le:’MI}MS

M= My > M,

Question Number : 127 Question Id : 4557344287 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The volume of 0.1 M HCI required in mL to neutralise 20 mL of a solution containing
0.106 g of Na,CO, 1s

0.106 g © Na,CO;fe 20 mL 529°Q) $HVE00STAE s=S0hs 0.1 M HCI (mvde0
DSHBSre0 mL o5

Options :

y 10

L3
h
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Question Number : 128 Question Id : 4557344288 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If enthalpy of combustion of carbon to CO, @ is —394.0 kJ mol . the enthalpy change for
the formation of 17.6 g of CO, from carbon and dioxygen at the same temperature in kJ 1s

58S $00& CO, .y 5 BFS 2059y —394.0kJ mol w013 3 &IE 54 17.6g CO,
sEHS, B 8z $0d) IGELOS® Jogrdy Sty kI o

Options :

315.2

1

, 157.6

—-315.2
4

Question Number : 129 Question Id : 4557344289 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At 1000 K. 1f the equilibrium constant K, for the reaction
ZNOCl(g) 5= 2NO,;) +Cly(q

is 4.157 x 10 bar. the K_ (inmol L) is (R=10.083 L bar K'mol™)

1000 K 3¢ 2NOCI_, = 2NO ., +Cly_, 365 s5rep8 Horossn K=4.157x10"* bar

(= (=)
@ond K, (mol L™ &¢5*) (R =0.083 L bar K~'mol™)

Options :

| 4.16 x 107

4.16 x 107

L-3

5 5.0 x 1074
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Question Number : 130 Question Id : 4557344290 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the ionization constant of hypochlorous acid (HOCI) is 2.5 % 107, the pH of 1.0 M of its
solution 1s (log 5 =0.7)

TTrarSEd 80 (HOCI) @oHsdse Q0r080 2.5 X 10 ®o0s, 1.0 M s ) (G0 pH
(log5=10.7)

Options :
1 3.3

L3
(B
L

Question Number : 131 Question Id : 4557344291 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which of the following reactions. oxygen is not liberated?

80 SEgod® BIS® sfimd Idde 576?

Options :

Reaction of HOCl with H,0O,
1 H,0, & HOCI RTefy

Reaction of acidified KMnO 4 with H,0,
H,O, & E@é&é KMnO, =553

12

Reaction of 1odine with H,O,in basic medium
sedosrsgos® Hy)0,8 e@rss $6g

Reaction of lead sulphide with H,O,
" H,O, & 8& ?5235 S8
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Question Number : 132 Question Id : 4557344292 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A compound (M,0,) of group I element (M) hydrolyses to form M. OH and X. Another

compound (M'O,) of group I element (M") hydrolyses to form (M")™. OH . X and Y. What
are X and Y respectively?

(o, I8l (M) 2.8 E’J?:";Jg%":ﬁaﬁaj (M,0,) 2ol B0b M". OH %0805 X %)
D6YBN0H. D) I 2088 Sores (M) $3¢580 (M'O,) 2eddsn Bod (M)
OH ", X 58050 Y i 2618008, X 508050 Y en 36H3m IH?

Options :

- H,0,.0,

L2
(]

H,.H,0,

Question Number : 133 Question Id : 4557344293 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following

1.  The atomic radius of Al is lower than the atomic radius of Ga.

1. Boron exists in many allotropic forms.

1.  The melting point of Ga 1s lowest among the group 13 elements.

B0l 836" JBGHS Do MHBosdw.

1. Al HgSoee2 a*—gﬂ‘gén, Ga H857m mgéﬁgo 508 $89).
1. 000 @38 Srdrodoeds® 08008

. (D) 13 Srostos® Ga $ odgoy (BIL5S PBB00En0s
Options :

| 111, 111

-2
—
-
i
s
Pt
[y
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Question Number : 134 Question Id : 4557344294 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following 1s not correct corresponding to chemistry of group 14 elements?

145 (irs) Sorose SFoNS i Howo0ods §od T8S” 6 S8PDSH T&?
Options :

Lead has no reaction with water due to formation of protective oxide layer

B&ES LS S6gB%. HOE 6o C8S w/E 6 AGykbo

GeX, 1s more stable than GeX,
GeX, Q6#t0 GeX, 508 I8

—

=

PbX, 1s more stable than PbX,
PbX, 9d%g0 PbX, 508 289

Tin on reaction with steam liberates hydrogen

8BS I8 DS IEgT 08 TIE RIS e BoSH

Question Number : 135 Question Id : 4557344295 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The chemical substance of photochemical smog responsible for eye wrritation is

508 Grohd 7R 0B & STroDS Ho°go Sod) HEIIE s°FHibdd.

Options :

: CH,=CH- CHO

1
CH;-C-0-0-NO,

L2

, CH,=CH,

CH

gcollegeduniaa
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Question Number : 136 Question Id : 4557344296 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following.
List-1 List-1II
\ 2 e,
A) Resonance ) _C=C{+H® —>>(|f -G

H
a8 - (=)
B) Inductive effect H-CH,-CH, «— H CH,=CH,

C) Electromeric effect ) CgH

=

AN
D) Hyperconjugation v) CH;—=Z »CH; +Z

V) CH;-CH,-CH/(CI
808 70 2858080

e -1 e -11
4 Rineainalll, B B3
A) BEIY) 5 G e BOME —)»/Cl‘—(_‘\
H
3 - @
B) (2058 peardo ) H-CH,-CH, «— H CH,=CH,
C) J@@B}@E 2eTR0 ) C.H,
D) & Joosoi)o V) CH,~Z » CH; +Z

V) CH-CH,- CHECI
The correct answer 1s

3’35@5 DRS00

Options :

A B C D
1 o0 1 vV I
A B
m VvV 1 I

®
v

-2

g B E B
P B E Y
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Question Number : 137 Question Id : 4557344297 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rate of dehydrohalogenation of which one among the following is less?

§od o°8S° 555 Sorgfod® GE S EIAS FokSsH IH?

Options :

| CH_‘;CH;\CHEBI'

CH;CH,CH,Cl

L2

CH;CH,CH,I

CH;- ?H —CH,I
CH;

Question Number : 138 Question Id : 4557344298 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Propyne reacts with HBr to form Z. The compound Z is
@S HBr & $6g508 Z £ 86308, Z @b 530980
Options :

~ CH,(Br) CH,CH,Br

CH,CH,CHBr,

-2

, CH;CH(Br) CH,Br

CH;CBr,CH;

Question Number : 139 Question Id : 4557344299 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumas
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A metal oxide crystallises in a hexagonal close-packed array of oxide 1ons with two out of
every three octahedral holes occupied by metal 1ons. The formula of metal oxide 1s

88 woirdSe w08 Ko (T BSoH 3Y)rd Eréns® S5 =§)& 311388600 F0b, B
ordy sgIES Jogreos® Bododld SN soirsey sEdoHE o, 8 SN sj&
J o er

[r—

Options :

, MO

Question Number : 140 Question Id : 4557344300 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The quantity of CO, m 500 mL of soda water when packed under 3.34 bar CO, pressure at
298 Kingis
(Henry's law constant for CO, in water at 298 K 15 1.67 = 108 Pa).

298 K5 3.34 barey CO,ndS0e* den 8H% 500 mL Fwdge' CO,H08r050 g o
(298 K 8¢ 0836° CO, 8 T do$d Joro¥o 1.67 x 10° Pa)

Options :

| 2.442
, 1.221
, 4.884

4 3.663

Question Number : 141 Question Id : 4557344301 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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300 mL of an aqueous solution of a protein contamns 2.52 g of the protem. If osmotic
pressure of such a solution at 300 K is 5.04 » 107 bar. the molar mass of the protein
in g mol™! is

300 mL @85 2ors0os” 2.52 g o (@S 4ob. 300 K 5§ « @@So0 ($a-gdde

D650 5.04 x 107 barwons & @8BS Frers GSgord g mol os*

Options :

| 83.0 x 103

20.8 x 10°

Lo

41.5 x 103

41.5 x 10*

Question Number : 142 Question Id : 4557344302 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The conductivity of 0.01 M aqueous acetic acid measured with a conductivity cell of cell
constant of 0.5 em™ at 298 K is 3.12 x 107*S. If the limiting conductivities of H™ and
CH,COO™ at the same temperature are 349. and 41 S em? mol! respectively. the dissociation
constant of acetic acid 1s

0
S 3.12 x 107'S. ©8 &S 38 H. CH;CO0 © w558 drerf avréden SHSm

., 2
m- mol 03 J5H¢E ?_—',a"p_jo SIS %0‘-050

L
S
e
oS
[e—
wn
(]

L-2
[e—
(o))
~3

bt
pe—
%

s

Question Number : 143 Question Id : 4557344303 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
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At T(K). the following data were obtained for a general reaction A+ B + C —— products

T(K) $¢ 2.8 rgrde S6g80 A+ B+ C——> oiraargen, §08 dazomen Sodadsd.

Expt. Initial [A] Initial [B] Initial [C] Initial rate
tsfos spdate ssogf [A] sdogf [B] esdozs [C] 235085060
1 0.02M 0.1M 0.03M 2.4 x 1079 Mg
2 0.02M 0.2M 0.03M 4.8 x 109 Ms™1
3 0.02M 02M 0.06 M 9.6 x 1079 Ms™!
4 0.04 M 02M 0.06 M 9.6 x 1075 Ms™!

The rate constant for the above reaction 1s
2 $8gso 150’57:'56.)) RT*080

Options :

| 8.0 x 1045

8.0 % 10*L mols!

L-2

8.0 x 10%L mol-1s

]

, 8.0 107 L2 mol= 57!

Question Number : 144 Question Id : 4557344304 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which one of the following processes the reactants and catalyst exist in three different
states?

& 808 Do’ BIS* Bolrassen, ﬁ:@:ﬁgdéo Sorcy BTG YSHS* Grotrow.

Options :
Haber's process

: b E’Jf:ge"_&

Ostwald's process
BIRY DS

n‘)

collegedunia
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Hydrogenation of Vegetable o1l

S8 How0dE Boo TrE=IEE0

Contact process

308 (s0ér§) 586
o - &

Question Number : 145 Question Id : 4557344305 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What is the slag formed in the extraction of iron?

08 Jor0os” G SrHeo J&?

Options :

 CaO

-2

MgSiO;

[N ]

S0,

Question Number : 146 Question Id : 4557344306 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Calcium phosphide reacts with water to form Ca(OH), and X. When X is passed into CuSOy
solution, Y and H,SO, are formed. What1s Y?

s*9o0 FE W8S $6gTosH Ca(OH); 518050 X ol 28)8H0s. X & CuSOy
OS50 08 Hobodne Y $r8a8n HpSO4en Jymon. Y 6?7

Options :

| [Cu(PH3)*

‘ [Cu (PH3 )ﬁ]2+

I-2

3 Cll_:,Pg

’ CuHPO,
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Question Number : 147 Question Id : 4557344307 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the statements which are not correct.
1.  ZnO.PbO. Sb,0; are neutral oxides.

1. CO and NO are amphoteric oxides.

1. CrOj. Mn,0;. V,0; are basic oxides.

R0GHE JIdBeen U D Modhan.

1. ZnO, PbO. SbyO3e0 $&y wgyGEen

—

C

1. CO %5805 NO & &Ggsﬁoga?é =3 Gew
1. CrOz. Mn,0;. V,05e0 576 s8)&Een
Options :

, 1.1

1. 111

L-J

i i

s

4 1. i i

Question Number : 148 Question Id : 4557344308 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following liberates oxygen immediately when passed into water?

Bod 77835 BAD O3S HoHODEHYE w§ied FobI I ErHS?

Options :

1. F>

Cl,

L-2

Question Number : 149 Question Id : 4557344309 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Assertion (A) : Cul, cannot be prepared by the reaction of Cu®* (aq) with I(aq)
Reason(R):  Aqueous Cu?* solution is blue in colour

OS50 (A): Cu* (zo) & INze) H SE5rdod Cul,SH SosrsHBoHsSEm
8050 (R): Cu* 2o 52050 dO SorHres* &otnod

The correct answer 1s
SBGHE BITTHEN

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
| (A) 508080 (R) & 30350 50050 (A) B, SBGHS 256 (R)

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
. (A) 508050 (R) @0 3806 570 (A) Bng), 30g0s D38 (R) s

(A) 1s correct but (R) 1s not correct

, (A) 3056 50 (R) 5056 56

(A) 1s not correct but (R) is correct

) (A) 585358 575 570 (R) H0FBo58

Question Number : 150 Question Id : 4557344310 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A coordination compound is made of Co’™. NH; and CI". 0.1 M solution of this complex
when treated with excess silver nitrate gave no precipitate. The formula of the complex and
secondary valency of metal are respectively.

.8 HB2%g0% HAy¥so Co™, NH; 50050 Clred® D6ydod. 0.1 Mo & 50359 @@S07)
288 Dogd IBHE SCgToHONSHH BIEISD 0B, & J0FPH FETe Ho005M
'm0 BE), wEoEd IBYen IS

Options :

! [Co(NH;); CL4]. 6

_ [Co(NH,), CI] CL,. 6
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, [Co(NHy); C1]. 3

, [Co(NH,), CL,] CL 6

Question Number : 151 Question Id : 4557344311 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Nylon 6. 6 is a condensation polymer of two monomers X and Y. The number of — CH,-

groups i X and Y are respectively

S0 6, 6 ©H38 X.Y 9 Bod T8 AwE), SoodsS FON6. X. Y o&" - CHy-

RArTie ;’auwg SHJm

Options :

| 6.4

6.6

12

Question Number : 152 Question Id : 4557344312 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Reducing saccharides among the following are

Sucrose Ribose Maltose
1 2 3

b L2
oo -
e i
_n =

s
19
N

Lactose
4

er§a

Cellulose
5

G-, e_aageﬁ‘ei
5

-
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Question Number : 153 Question Id : 4557344313 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Examples of antihistamine (X) and cationic detergent (Y) are

Srod3trgs (X), s70srds G4g0d5 (Y) of &mirdoes
X 4
Options :
Dimetane Cetyl trimethyl ammonium bromide
AT OFS BNFS wFrIoHD @ s
1.
Nardil Cetyl trimethyl ammonium bromide
oGS 085 Bgs ©IrU00N @ DG
Dimetane Sodium lauryl sulphate
A0S FBoDD ordS BBYE
3
Nardil Sodium lauryl sulphate
*0GS A0 bS5 366;;5
4

Question Number : 154 Question Id : 4557344314 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

S,.2 reaction involving inversion of configuration takes place with an optically active
compound Z. The compound Z 1s

Z 25 o8 8)5 3od fo SH0¢So S2 S6S° FTHMNE ISTH dTgdo aHHHA.
QeSS Z 0Hds

Options :

| CHyCHX

(CH;), CHX

L2

, CH;CH,CH(CHX

, (CHp,CX

gcollegeduniaa
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Question Number : 155 Question Id : 4557344315 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ethyl magnesium bromide reacts with acetone to give X. On hydrolysis X forms

S35 DHRoHD DG, VLD’ $6g 20D X H%od. X & 20dFhn Dobm I

Options :
CH,— CH,—CH,- CH—CH,
) -
OH

CH,-CH,-CH-CH,-CH,
2§ )
OH

Lo

OH

|
CH,-CH,-C—-CH,
-
CH,

CH,—CH, - C|‘I-I ~CH,OH
CH,

Question Number : 156 Question Id : 4557344316 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct set from the following.
Bod a°3e5° $BGHS JME HBodok.

Compound pK,
SHULERSS
Options :
m-nitrophenol. 10.2

m-JE5 H oS
ll [~ -

gcollegeduniaa
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o-nitrophenol, 10.2

0-3¢F S

L3

m-nitrophenol. 7.2
m-JES DTS
R
o-nitrophenol. T
. B S DTS

Question Number : 157 Question Id : 4557344317 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
What are X and Y 1n the following reactions?

Bod SEgees® XY en 29?

R<CH,0H 2008 o
CH,
|
o O e B
|
CH,
X Y
Options :
O H.C
R}KH *Ne—o
1 H,¢”
O H:C
A *Neo—cn,
< R OH Hjc/ Z
0
H.C

H;¢”

-

el
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H;C
H,C

A

O

Question Number : 158 Question Id : 4557344318 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

X and Y in the following reaction sequence are

$od SorgErod” X, Y e

O

|
RigX— % oo T SR C-R’

X . 4

Options :
1 RCdC] R'COClI
b, R'.ZCd (R’ CO):
’ R,Cd R'COCl
, RyMeCdcl, R COOR!

Question Number : 159 Question Id : 4557344319 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Order of acidity of benzoic acid (I). 4-methoxybenzoic acid (II). acetic acid (III) and
4-nitrobenzoic acid (IV) 1s

Zoz'00n§ &0 (I), 4-5’}3@"*‘%_3 Zo&" 0008 w0 (II), IHLE sdHo (1), 43¢5 ToF 008
2500 (IV) & 25 ESD00
Options :

L IV>1>10> 1

2, I>T>1IV >

-y
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,M>I>0>1V

JI>1>1IV >

Question Number : 160 Question Id : 4557344320 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

What are the structures of X, Y and Z n the following reaction sequence?

§od SorgEos” X. Y. Z o Jomperren 29?

- e
CH,CO0),0 He
CﬁHﬁNH:_} { 3 )3 )X HNOS.H_ESQ, )Y OH )z

Pyridine 288K
5045
X X Z
Options :
NHCOCH3 : /NHCOCHJ NHg
1 ys
}!“I(CO‘CH3)2 QN(COC H 3)3 O NH2
O,N O,N
- 2 2
N(COCH3), O,N N(COCH,), OZNQ NO,
NO, NO,
3 2
NHCOCH,; QNHCOCHB O NH,
0,N O,N
4 2
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